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AU _2g°UA 12Eé°s 78,369,530.5 78,209,530.5 1,168,301.3
2100 |01 |0 |0 AU,DZUéGB'Ué\AﬁUAﬁEDZUBZUﬁEU 8,703,708.8 8,184,741.5 518,967.3
T2e20a0Alasuues
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2110 | 01 | 1 | O |GfA»Yé1CA =~ -4AT31CA U3AUCYY»A, &»T313Y 8,265,543.1 7,957,584.8 307,958.3
1363730400, yoy3Ye3I3y =
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BAT30CY N3ASBu»AaoAlasy Y»n
ance’

2111 | 01 | 1 | 1 |Gfi»Y&2CA ™ -aRT31CA UBAUCYY»h, S» W 3T3Y 8,265,543.1 7,957,584.8 307,958.3
136313400

2130 | 01 | 3 | O |AY2N3Y&67 uYadlAC F=26346AI46YY»A 92,595.7 92,286.7 309.0
ance’

2131 | 01 | 3 | 1 |2BE3T3T3WC [T31A»AC/ - TaT AYIN=YasR pYasiAc 92,595.7 92,286.7 309.0
1363(40Ala0Y Y

2150 | 01 | 5 | O |AY2N=YadA uYailAc N=3YAZICY [3é3aiAlasyy»i¢ 210,700.0 - 210,700.0
-TAT N> 33371313y " Y3E3. 3y
BBES3T3YOY»A
ance’

2151 | 01 | 5 | 1 |AV2N=YasA pYaslAc N3YASICY 1=2é=3(asAlasYY»Ac - Tar 210,700.0 - 210,700.0
N> 3BATST3Y " YSEZ- [3(CY SREST3YUY»A

2160 | 01 | 6 | O |AY2N=YadA uYailAc N3YASICY [Sé3iaiAlasyy»ii 134,870.0 134,870.0 -
(3l 136»ACY 48371 T13Y40)
ance’

2161 | 01 | 6 | 1 |AV2N=Yadh pYaslAc NSYASICY 1=2¢=3lasAlasyY»i (Sl 134,870.0 134,870.0 -
13¢»ACY 83T T3Y40)

2200 |02 |0 |0 azptazUascAlasy 42,000.0 42,000.0 -
3t Ata0

2220 | 02 | 2 | 0 |@=303036C313Y &38T&3YaiAlasY 16,000.0 16,000.0 -
ance’

2221 | 02 | 2 | 1 |@=0=30=6C3T3Y &3/ A3VaAlasY 16,000.0 16,000.0 -

2250 | 02 | 5| O |&3BUE3Ya0Al40Y (SIE 13é»ACY 4831 13Y40) 26,000.0 26,000.0 -
ance’
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2400 |04 (0|0 TUTe82T20 p252" 23a8A0a600°8 10,360,610.5 14,321,255.8 (3,960,645.3)
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2420 | 04 | 2 | O | 7ld003TYU»édiAldcy, 3YT3e3icy o 88,350.0 - 88,350.0
TYT»E404J40Y, OTYAREAGAIAGY ~ aRE4A1E0AIAGY
anco

2424 | 04 | 2 | 4 |&aga-adl 88,350.0 - 88,350.0

2450 | 04 | 5 | 0 |TA3YE84AT 14,224,524.2 13,184,132.1 1,040,392.1
anco

2451 | 04 | 5| 1 |03Y=2a3AN=CY TASYe AT 6,459,534.0 5,517,534.0 942,000.0

2455 | 04 | 5 | 5 |EafAT3T3/3A3(CY ~ 3 TASYe&anT 7,764,990.2 7,666,598.1 98,392.1

2470 | 04 | 7 | O |2 uy=3-3736Y»A 20,000.0 20,000.0 -
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2473 | 04 | 7 | 3 |Yapde=RAcadAlasy 20,000.0 20,000.0 -

2490 | 04 | 9 | O | TYU»E3T3Y N33u»fdiAldoy V> (Sl 136»AgY (3,972,263.7) 1,117,123.7 (5,089,387.4)
d83113Y40)
afigo

2491 | 04 | 9 | 1 | TYW»e313Y N2A2pu»AaoAlaeY Y»h (S 13é»AcY (3,972,263.7) 1,117,123.7 (5,089,387.4)
4&3713Y40)

2500 | 05 [0 | 0 Pd22T2 BA=21208% 42pTa20a0A0as0 7,630,860.8 7,520,860.8 110,000.0
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2510 | 05 | 1 | 0 | 20u=3N=YaoU 5,490,806.8 5,460,806.8 30,000.0
afige

2511 | 05 | 1 | 1 |20p=R=VYau 5,490,806.8 5,460,806.8 30,000.0

2530 | 05 | 3 | 0 |bAC3T= UCc3T3IA¢ 30T4TU3Y 150 §3/0=A 38,683.0 38,683.0 -
afigo”

2531 | 05 | 3 | 1 |GG 30TATU3Y 15U &3(0=H 38,683.0 38,683.0 -

2560 | 05 | 6 | 0 |PAic=31=3 UCc3T3IAC &3 &3YaiAlasY (U 2,101,371.0 2,021,371.0 80,000.0
13»ACY 4831 T3Y40)
afigo

2561 | 05 | 6 | 1 |Pic=T= UC3T3IC &=3Ra=VaAlary (3l 13e»AcY 2,101,371.0 2,021,371.0 80,000.0
4&37T3Y40)

2600 | 06 [0 |0 “U>2T1252020£U pEU2628a0A0a0U <1 10,507,228.9 9,036,249.6 1,470,979.3
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2610 | 06 | 1 | O | "YSISA3Y3(CY BCY3A3AdiAl46Y 86,100.0 16,100.0 70,000.0
afige

2611 | 06 | 1| 1 |7 YST3A3Y3(CY RCYSASAa0AlacY 86,100.0 16,100.0 70,000.0
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2630 | 06 | 3 | 0 |@ASU=T31=A=3A400 5,121,648.0 5,121,648.0 -
afigo”

2631 | 06 | 3 | 1 |efi=303w=3T3i=hal 5,121,648.0 5,121,648.0 -

2640 | 06 | 4 | 0 |64040Y»A¢ E466=TaRasU 2,370,043.8 2,363,043.8 7,000.0
afigo"

2641 | 06 | 4 | 1 |6&04a6Y»AC tase=T4afiac0 2,370,043.8 2,363,043.8 7,000.0

2650 | 06 | 5 | O | “Y3I3A3Y3ICY BeY3AZ3nacAI3Y ~ 1aUasy=¢ 20,000.0 - 20,000.0
13634044y Y»A¢ - IAT N> 134417313
YIE3. [3cY SRE3T3Y0Y»A
afigo"

2651 | 06 | 5| 1| YSTSA3YS3(CY CYSASR&AISY " Tavayse 20,000.0 - 20,000.0
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2660 | 06 | 6 | O | “YSI3A3Y3ICY BCYIAZAAAI3Y * TaU&Y3E 2,909,437.1 1,535,457.8 1,373,979.3
I363a0AI46YY»A (3IF 136»ACY 4831 T3Y40)
afigo

2661 | 06 | 6 | 1 |~ YST3A3Y3(CY RCY3ASAAAISY ~ Talasy st 2,909,437.1 1,535,457.8 1,373,979.3
1=363(a0AlasYY»A (Sl 12e»ACY 4831 T3Y40)

2700 | 07 [0 |0 2¢a0x2a2pasAlasy 293,500.0 12,000.0 281,500.0
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2710 | 07 | 1 | O | “ABIST3Y S&A3YaY»fi, E3fiu»Ai = 71,500.0 - 71,500.0
é3Au3ranaovy»n
afige

2711 | 07 | 1 | 1 |_»0=-aAT3T3Y S&A3YaY»h 71,500.0 - 71,500.0

2760 | 07 | 6 | 0 | 2640¢=383NaAla6Y (3IF 136»ACY 4831 T3Y40) 222,000.0 12,000.0 210,000.0
afigo”

2761 | 07 | 6 | 1 |2640¢=2a3N3T3Y N=3AST06 1=36340Ala0YY»A ~ TA= - finf 222,000.0 12,000.0 210,000.0

2800 | 08 [0 | O p2U£ET, @p2TaoUA <1 Tsal 3,406,350.1 2,575,350.1 831,000.0
=1 A4

2810 | 08 | 1 | 0 |A3Y-67C ~ER4ATC I36340AI46Y YA 585,899.9 204,899.9 381,000.0
afigo

2811 | 08 | 1| 1 |D3Y-&WC "~ QARG 1=363(40Ala5YY»Fi 585,899.9 204,899.9 381,000.0

2820 | 08 | 2 | O |@B3T46A3ICY I36346AI46Y YA 2,753,125.2 2,303,125.2 450,000.0
afige

2821 | 08 | 2 | 1 |TIASI3ABYY»fi 452,291.2 452,291.2 -

2822 | 08 | 2 | 2 |A3Y-3A3VY»i " 640636AZNY»A 253,038.5 253,038.5 -

2823 | 08 | 2 | 3 |@RITAIAC WY»A, STaUuY»A, T»YTAAYY»f 111,245.0 111,245.0 -
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2824 | 08 | 2 | 4 |2 UB=TAASICY T3S T»AA0AIA0YY»A 1,438,270.6 988,270.6 450,000.0
2825 | 08 | 2 | 5 |2fT»&W 472,629.9 472,629.9 -
2827 | 08 | 2|7 Déﬁf&ér_ﬁo?-w»ﬁc"UBij-'l‘éﬁA?-UgY SAA»0Y»AC 25,650.0 25,650.0 -
M»AST3Y- Y4l -~ &3N&a=vai
2830 | 08 | 3| 0 |@31Ca " N»éadé W 3N30an1aiUY»A¢ 36,000.0 36,000.0 -
N»63[031U3Y  NAZ 131314313y
1363404146V Y»h
afigo
2831 | 08 | 3 | 1 |P»éade T =631CaN=04aM145UY R 36,000.0 36,000.0 -
2840 | 08 | 4 | 0 | TA&Y=313Y ~ N363431313Y 3 31,325.0 31,325.0 -
136340446V Y»h
afigo”
2843 | 08 | 4 | 3 |TRAY=T3Y ~ N=2&3A3T3T3Y 3 1=263(40AI40YY»A 31,325.0 31,325.0 -
2900 | 09 [0 |0 ToAasAlasU 28,592,638.1 26,676,138.1 1,916,500.0
=1 A4
2910 | 09 | 1 | O |UBE314A46313Y = w3AA313Y AYIN3Yaon 15,039,616.9 14,839,616.9 200,000.0
1iA&sAiaey
afigo
2911 | 09 | 1 | 1 |USE3147463T3Y TAA&sAlasY 7,873,965.3 7,673,965.3 200,000.0
2912 | 09 | 1 | 2 |T3AAST3Y AYIN=Y4dh ThAAGAIAGY 7,165,651.6 7,165,651.6 -
2920 | 09 | 2 | O |@CeY3T3rA- AYIN3YAdA TAAE0AIAGY 9,069,256.1 9,069,256.1 -
afige
2921 | 09 | 2 | 1 |BGUY=T=Y AY2N=Yadn THAAAl&SY 8,816,454.2 8,816,454.2 -
2922 | 09 | 2 | 2 |@CcY=3T=3- (FACT) AVIN=Vaosn TAA&SAIASY 252,801.9 252,801.9 -
2950 | 09 | 5 | 0 |AéT UBI3A13IY»AC 41363131 - 140 17A40Ala6Y 3,512,438.3 2,732,438.3 780,000.0
afigo”
2951 | 09 | 5 | 1 |2AWS1ARA6ST3Y 1236 WC3ASTAoAlA0Y 3,512,438.3 2,732,438.3 780,000.0
2960 | 09 | 6 | O | TAA&GAI3YA TA3031/1740 0A=Y13T 971,326.8 34,826.8 936,500.0
136340446V Y»h
afigo
2961 | 09 | 6 | 1 |TAA&AISYA WA=U31AT40 0A=3Y1=3T 1=2¢3(40AlA5YY»A 971,326.8 34,826.8 936,500.0
3000 | 10 [0 | O €a0k£2t2T20 a2pT1a=20a0Aluacu 1,874,811.8 1,874,811.8 -
=1 A4
3070 | 10 | 7 | O |846¢3E3T3Y N3wadl 3w aYaAlasyy» (3l 670,014.4 670,014.4 -
13»ACY 483 1T3Y40)
afigo"
3071 | 10 | 7 | 1 |8&6C3EST3Y NS0l SAwaYasAlacyY»i (S 13é»icY 670,014.4 670,014.4 -
a&3713Y40)
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3090 | 10 (9|0 ééé¢3£’3'l'3fésfzi'ésyéiﬂu‘éiy(sﬁf’13é»ﬁ(:)7 1,204,797.4 1,204,797.4
d8=37113Y40)
&RCo
3091 | 10 | 9 | 1 |@46C3E3T3Y A3 W ASYAIAIAGY (Bl 136»ACY 364,189.4 364,189.4
4A3T1=2Y40)
3092 | 10 | 9 | 2 |@46C3HE3T3Y A3RTASYAAISYA WiA=U=31AT40 0A3Y13T 840,608.0 840,608.0
1=3¢3{a0Ala0Y Y»f (3 126»ACY 4831 13Y40)
3100 |11 |0 |0 PEGU2T=2U “2AEUUCsEU a_267a0 6,957,821.5 7,966,122.8
az2patet2U£U val o5
31 ATa0
3110 | 11 | 1 | 0 |\DD IBE373A40AI3Y = N3U3Yay»i¢ 6,957,821.5 7,966,122.8
a3Naoe T3y yayr
&RCo
3112 | 11 | 1 | 2 |PP N=3U3VaY»A¢ &=3Nase w=ICY yavr 6,957,821.5 7,966,122.8
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